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Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
| Then mark your choice on your answer sheet.

1- Governments usually —-------- freedom of movement into and out of the country in time of
war.
1) detect 2) induce 3) restrict 4) simulate
2-  You can only come on the school trip if your parents give their written ---—---- -
1) device 2) consent 3) criterion 4) inclination
3- The government -------- -- that the buildings would not be redeveloped in the historical parts of
the town.
1) tackled 2) confronted 3) committed 4) undertook
4-  She intends to --------— a medical career, but her father would like her to study law.
1) engage 2) resolve 3) aspire 4) pursue
5-  Students can be expelled at the -------- - of the head teacher, and they cannot return to school
within a year after expulsion.
1) foresight 2) judgement 3) alternative 4) discretion
6- The war would have ended if the enemy planes had not ---——----- the cease-{ire agreement.
1) violated 2) enforced 3) exceeded 4) attributed
7-  Maths is a(n) ~——---- part of the school curriculum almost anywhere in the world.
1) eventual 2) Intrinsic 3) concurrent 4) simultaneous
8-  He said that if the annual floods got ---------- worse they would have to leave the area.
1) any 2) more 3) very 4) enough
9.  They asked the students not ---—----- in the building once they had finished the test.
1) stay 2) stayed 3) to stay 4) staying
10- He had two of his teeth —------ - at the dentist's round the corner.
1) extract 2) extracted 3) extracting 4) were extracted

—— e ———

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

Two sailors were missing at sea after two Greek-flagged ships (11) -—----=--- off the western coast of
Turkey and one of them sank. Ten sailors (12) ---------- board the sailing ship were rescued. The Pel
Mariner sank after it hit the Pel Ranger (13) ------—--- seven miles off Turkey's western coast.
Anatolian news agency quoted officials (14) ---------- heavy fog could have played a part in the
accident (13) --==------ the Dardanelles Strait.

11- 1) collided 2) colliding 3) that collided 4) were collided

12- 1)in 2) on 3) over 4) above

13- Dall 2) with 3) some 4) every

14- 1) say 2) said 3) saying 4) were saying

15- 1) near 2) was near 3) to be near 4) it was near

G yiud Gl 39 30 i of ol 5 S g LS op9 25T
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rPART C: Reading Comprehension

Directions: Read the Sfollowing two passages and answer the questions 16-20 by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

[f two expressions E, and E,are linked by the symbol of equality, an equation E; =E, arises. Hear E,
is called the left-hand side, and E, the right-hand side, of the equation. The domain of definition of an

equation is the intersection of the domains of definition of all the expressions with variables occurring in it.
An equation whose expressions do not contain variables is a proposition in the sense of mathematical
logic, which can be true or false; for example, 3+2 =35 and 3x (3+2)=20+1 are true propositions, while

2+3x4 =13 is a false proposition. But if the eXpressions contain variables, then the equation s a predicate,
; s A + 24
for example, the equations 3x =—12,4a +3b=1 or x2 = ERT—) . Only after numbers from the domain of
3

definition of the equation are substituted for the variables, the predicate becomes a proposition, which may
be true or false.

Every number from the domain of definition of an equation with a single variable which after substitution
for the variable makes the equation into a true proposition is called a solution of the equation, and one also
says that the number solves or satisfies the equation. If an equation contains two, three, ..., or n variables,
then a solution is an ordered pair, triple, ..., or n-tuple of numbers with the following property: if the
variables are replaced with due regard to the order by the elements of the ordered pair, triple, ..., or n-tuple
then the equation goes over into a true proposition of equality.

The predicate will —----——, after the numbers are substituted for the variables.

1) be nullified 2) turn into an equation
3) not be a proposition any more 4) have the value true or false
An equation is one that always contains -

1) a symbol with two sides for propositions

2) at least two sides linked by a symbol

3) at least two expressions along with a symbol

4) two expressions appearing in the two sides of a symbol
Proposition means an equation having -—----—- ;

|} numbers and variables, the values of which can be determined
2) no variable at all

3) a logic and a reasonable value

4) variables only

If an equation contains a number of variables, then a solution for the equation --—--=----,
1) turns the equation into a true proposition

2) is obtained by substitution for any one of the variables

3) is obtained by substitution for all the variables

4) turns the equation into a predicate

A proposition —--—-—- ‘
1) is a predicate having no variable 2) has always a true value
3) has always a false value 4) is proposed for the stations of an equation

e
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Read the following and answer questions 21-25:

Khawarizmi was a mathematician, astronomer and geographer. He was perhaps one of the greatest
mathematicians who ever lived, as, in fact he was the founder of several branches and basic concepts of
mathematics. He influenced mathematical thought to a greater extent than any other mediaeval writer. His
work on algebra was outstanding, as he not only initiated the subject in a systematic form but he also
developed it to the extent of giving analytical solutions of linear and quadratic equations, which established
him as the founder of Algebra. The very name Algebra has been derived from his famous book Al-Jabr wa-
al-Mugabilah. His arithmetic synthesized Greek and Hindu knowledge also contained his own contribution
of fundamental importance to mathematics and science. Thus, he explained the use of zero, a numeral of
fundamental importance developed by the Arabs. Similarly, he developed the decimal system so that the
overall system of numerals, ‘algorithm’ or ‘algorizm’ is named after him.

In addition to introducing the Indian system of numerals (now generally known as Arabic numerals), he
developed at length several arithmetical procedures, including operations on fractions. It was through his
work that the system of numerals was first introduced to Arabs and later to Europe, through its translations in
European languages. He developed in detail trigonometric tables containing the sine functions, which were
probably extrapolated to tangent functions by Maslama. He also perfected the geometric representation of
conic sections and developed the calculus of two errors, which practically led him to the concept of
differentiation. He is also reported to have collaborated in the degree measurements ordered by Mamun al-
Rashid which were aimed at measuring the volume and circumference of the earth.

The influence of Khawarizmi on the growth of science, in general, and mathematics, astronomy and
geography in particular, is well established in history. Several of his books were readily translated into a
number of other languages, and, in fact, constituted the university text-books till the 16 century. His
approach was systematic and logical, and not only did he bring together the then prevailing knowledge on
various branches of science, particularly mathematics, but also enriched it through his original contribution.

Khawarizmi ---------- :

1) explained that the number zero can be used to describe algorithms
2) proved that the number zero has a fundamental importance

3) invented the number zero

4) described the role of zero and its usage in mathematics

The derivation ------—--= due to Khawarizmi.
1) of the term algorithm but not algebra is 2) of the term algebra but not algorithm is
3) of the terms algebra and algorithm are both 4) of neither the term algebra nor the term algorithm is

In history, Khawarizmi is known to have ------—- .

1) established general science

2) contributed to the growth of science, mathematics, astronomy and geography

3) established mathematics, astronomy and geography

4) influenced the growth of general knowledge

Differentiation is a concept which was practically discovered by ;

1) Hindus 2) Arabs 3) Khawarizmi 4) Europeans

Khawarizmi is known --—-----—- -

1) mostly for his pioneer work on knowledge development, in general

2) mostly for his development of numerals and trigonometry

3) for his systematic and logical approach to various fields of science, and his contribution for their
enrichment

4) for his criticism of mediaeval scholars
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Read the following and answer questions 26-30;

Applications of Data Networks

With the proliferation of computes referred to above, it is not difficult to imagine a growing need for data
communication. A brief description of severa applications requiring communication i
understanding the basic problems that arise with data networks.

First, there are many applications centered on remote accessing of central storage facilities and of data
bases. One common example is that of a local area network in which a number of workstations without disk
storage use one or more common file servers to access files. Other examples are the information services and
ﬁnanczai services available to personal computer users. More sophisticated examples, requiring many
Interactions between the remote site and the data base and its associated programs, include remote
computerized medical diagnoses and remote computer-aided education. In some of these examples, there is a
cost trade-off between maintainin g the data base wherever it might be required and the communication cost
of remotely accessing it as required. [n other examples, in which the data base is rapidly changing, there is no
alternative to communication between the remote sites and the central data base.

Next, there are many applications involving the remote updating of data bases, perhaps in addition to
accessing the data. Airline reservation Systems, automatic teller machines, inventory control systems,
automated order entry systems, and word processing with a set of geographically distributed authors provide
a number of examples. Weather tracking systems and military early warning systems are large-scale
examples. In general, for applications of this type, there are many geographically separated points at which
data enter the system and often many geographically separated points at which outputs are required. Whether
the inputs are processed and stored at one point or processed and stored at many points, there is a need for a
network to collect the inputs and disseminate the outputs. In any data base with multiple users there is a
problem maintaining consistency (e.g., two users of an airline reservation system might sell the same seat on

some flight). In geographically distributed systems these problems are particularly acute because of the
networking delays.

help in

Networking is needed —--——-we-n- :

1) when the data processing and storage is needed at one point or many points

2) tor collection of inputs only

3) for distribution of outputs only

4) when the inputs are processed and stored at one point only

Many applications are centered on remote accessing of data bases ———--eeeee_ ,

) and remote accessing of central storage facilities, but not so much on uploading of data bases remotely
2) but not on remote accessing of central storage facilities

3) but not so much on its updating

4) and its remote updating

Remote updating of data bases are needed ------ e

|) mainly in small-scale cases

2) both in small-scale and in large-scale cases

3) mostly in large-scale cases

4) neither in small-scale nor in large-scale cases

For data bases which are accessed by many users remotely, maintaining consistency —---—-—--- -
1) is not a problem when networking delays are not present

2) is a problem and is sever when networking delays are present

3) 1s not a major issue for geographically distributed systems

4) is a minute problem when the systems are distributed diversely because of the networking delays
When a data base is changed frequently, a reasonable approach is to ----——-—- -,

1) have multiple sites for the data base

2) store the data base at every remote site for its access

3) communicate between the remote sites and a central data base

4) have alternative communication links to the remote sites
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